GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION

CENTRAL SECTOR NATIONAL MEAN S-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2024
(FOR STUDENTS STUDYING IN CLASS VIII)

Mental Ability Test

274432

Class-VIII Code State Code

Roll No. 1

Full Marks : 90
Time: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (A), (B), (C) and (D) against each question
in the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . © @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer,

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in the
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions
1 to 10, there are four items, three of which
are alike by some means or other while one is
out of the class. Find out the odd item and
give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e 1—10)

[t 2 1 (e 10 =% 2ot 2t 51 3 o
Tz, WA ToA10 @I 7 (IS TP G2
25! S | IR AR AT AT FE AOT
Tezlt Fdion s @3k O.M.R. Seaeimz Rs
T8 3¢ FA (OR T e T3 (]

1. (A)PT
B)RU
(C) GK
(D) SW

2. (A)9, 64
(B) 25,36
(C) 144, 169
(D) 100, 121

3. (A)36
(B) 96
(©) 16
(D) 80

4. (A) BDC
(B) XYZ
(C) MON
(D) PQR

8.

10.

[3]

(A) 110
(B) 363
(C) 265
(D) 396

(A) Car

(B) Bicycle
(C) Motorcycle
(D) Jeep

(A) May
(B) August
(C) June
(D) January

(A)2-8

(B) 4-32
(©) 3-27
D) 6-216

(A) AOT
(B) REB
(C) WIT
(D) CPA

(A) Mars (3==1)
(B) Sun ()

(C) Saturn (*f®)
(D) Venus (%)




(Questions 11—20)

DIRECTION: In each of the following
questions, a number of series is given with
one of the terms missing. Choose the correct
alternative in the position (?) that will
continue the same pattern and answer on the
O.M.R. Answer-Sheet by filling the circle.

(e 11—20)
(o s Aa ool ooy Ry s g
@3 G AW e TR | WAEfite SRR
(?) Brzz W e Tea® O.M.R. Seasiran
ﬁﬁ%w@ﬁmmwm@wq
11. 101, 100, 96, 87, 71,7

(A) 64

(B) 56

(C) 52

(D) 46

12. 11, 12,17, 18,23, 24, 7
(A) 30
(B) 29
Q) 32
(D) 27

13. 13,32,24,43, 35,7, 46, 65, 57, 76
(A) 55
(B) 45
(C) 52
(D) 54

14. 1,3,4,8,15,27,9
(A) 35
(B) 39
(C) 44
(D) 50

[4]

15.

16.

17.

18.

19.

20.

1,2,9; 28, 65, ?
(A) 96

(B) 124

(C) 126

(D) 130

49, 16, 25, 36,9, ?
(A) 64
(B) 36
(C) 81
(D) 60

3,7,15,31,863, 7
(A) 92
(B) 115
(G 127
(D) 131

4,-8,16,-32, 64, ?
(A)O

(B) 128

(C) -128

(D) -256

7 15; 31, 63,7
(A) 92
(B) 127
(C) 115
(D) 131

165, 195, 255, 285, 345, 2
(A) 375
(B) 420
(C) 435
(D) 390



(Questions 21—30)

DIRECTION: Following questions are
based on letter series. In each series some
letters are missing. The missing letters are
given in the proper sequence as one of the
alternative. Find the correct alternative in
each case and mark the right alternative on
the O.M.R. Answer-Sheet.
(et 21—30)
o ¢ Tw e orwy @ e ool
oirsl oy e weETe | 5T REEE Gl Ters
Tl AHe TENPIE A SE S
faewls /@ @ O.M.R. Teavitan W 36 <7
w3 (O T i W ]
21. ba__ba__bac

(A) aacb

(B) bbca

(C) ccba

(D) cbac

___acb __ chac

22. cc__ccbe __accbec __c__b
(A) acac
(B) abac
(C) abab
(D) aabc

23. _ aaba_ bba__
(A) aabab
(B) ababa
(C) baaba
(D) bbaba

bba ___abaa__b

24. _ bce __
(A) aabca
(B) abaca
(C) bacab
(D) bcaca

ac___aabb__ab__cc

25,

26.

27.

28.

29.

30.

__nmmn __mmnn __mnnm __

(A) mnnm
(B) nmmn
(C) nmnm
(D) nnmm

__op__mo__n____ pnmop__

(A) mpnmop
(B) mnompn
(C) mnpmon
(D) mnomon

A,D,H,M,?
(A1
(B) S
©) Z
D) X

KZ LX MV NQ

(A) OL
(B) AZ
(C) BX
(D) XY

b_b__bb____.

(A) bbbbba
(B) bbabbb
(C) ababab
(D) aaaabb

aaa __bb
(A) abab
(B) bbaa
(C) babb
(D) baab

bbb __

bb__b

__aab__baaa __ bb



(Questions 31—40)

DIRECTION: In each of the questions 31 to
40 a figure or a set of figure is given, each of
which bears certain numbers following a
certain pattern. You have to decipher this
pattern and accordingly find the missing
number in the figure and denoting your
selected answer on O.M.R. Answer-Sheet.

(es 31—40)

[Foft ¢ 31 (U 40 =% 20 o 3 s
qraw 57 aae | 26 B e RS Ry wryt
weql A (e oE| | WAl w9t
TafE 3l FHS [Revers IR | (@ I
™ @3 Ryt @ e e O.MR.
TereaR 8 7 <7 I Tea fAoie F=411]

31.
841/ ¢4 784 2%&6
729 1

69

(A) 32
(B) 42
(C) 62
(D) 82

32.

(A) 27
(B) 19
(C) 84
D) 5

[6]

33.

3s.

36.

9 | A | 12
B | 10 | 7
g8 | C | 11
Al13 Al13

(A) |B |11 B) |IB|9
clo9 cl11
Al9 Al9

©) |Bl11] (@ |B|13
C |13 C |11

(A) 2031 (B) 731
(C) 1625 D1
72 91

72

9 |16 13 | 14

12

(A) 11 (B) 12
©) 8 (D) 14
)
6|7
7134
gl2]1]4
(A) 11 (B) 12
(©) 14 (D) 13




37.

(S

39.

(A) 16 B) 25
< 9 (D) 36
18 16
8 10
10 ?
(A)9 (B) 6
o7 D) 8
8
4
?
(A) 7 B) 8
© 9 (D) 6
4 3
5|77 9 | ?
8 7
(A) 77 (B) 79
O 73 (D) 75

[7]

(Questions 41—45)

DIRECTION: Read the following
information carefully and give the answer by
filling the circle of the letter denoting your

selected answer on the O.M.R. Answer-
Sheet.

(et 41—45)
(o ¢ Tpe sl eEerE sitell Rew
Tenal W @ AT Tealt Wdiew I e
O.M.R. Tez7itax [fH8 g€ %79 I3 (o Tex
faiire 33 ]

There are five friends— P, Q,R,Sand T. P
is shorter than Q but taller than T. R is the

tallest. S is a little shorter than Q and little
taller than P.

A5 ag P, Q, R, S @3z T P, Q el st
g T Serwt o791 | R AR a9l | S, Q Sl &%
<16t @3 P STors o ora |

41. Who is the shortest?

(& FACHCH G2
(AT (B) P
S D) Q

42. If they stand in the order of their
height, who will be in the middle?

LR TR (F A2
(A) Q B) T
©) P D) S

43. Who is the second tallest?

& faoty Swew?
(A) P B) Q
© S DT

44. Whois taller than S but shorter than R?
- @ S ot el g R e i ?
(A) R B) Q
OT (D) P



45. If they stand in the order of
increasing heights, who will be the second?

W IR THO THEW SPIE WO,
o3 TSR F @ A2

(A) S

© T

(B) P
D) Q

(Questions 46 — 50)

DIRECTION: Read the following
information carefully and give the answer by
filling the circle of the letter denoting your
selected answer on the O.M.R. Answer Sheet.

(e 46—50)

(ot ¢ Tor sl eEe A, R[ew
Terafem T (A AT Teal® Wdvm e @3
O.M.R. Tea#tan "fH8 3 734 F= (oI Tex
e =@t )

All the six members of a family A, B, C, D,
E and F are travelling together. B is the son of
C but C is not the mother of B. A and C are a
married couple. E is the brother of C. D is the
daughter of A. F is the brother of B.

@3 #fRE7 6 T 7w A, B, C, D, E 93¢ F
@3 o I B2A C w3 7@ &g C, B g o
T A @32 C 75 @3l [3ifEe wif$ | E 251 C @7
©RI D% A 9330 | F B €9 ©f3 |

46. How many male members are there
in the family?

AT 538 0ol AN F0 7

(A) 1 (B) 3

©) 2 (D) 4
47. Who is the mother of B?

By

(A) D (B) F

C) E D) A

[8]

48. How many children does A have?

A-937 336 78 TR ?
(A) 1 B) 2
) 3 (D) 4

49. Which of the following is a pair of
female?

A @IS awEe 1w
(A) AE (B) B,D
(C) D,F (D) A,D

50. How E is related to D?

E Frei@ D-93 F~ifFs

(A) Father (B) Brother
Bkl o}

(C) Uncle (D) Sister
Banal Q@

(Questions 51— 55)

DIRECTION: Study the figure carefully and
answer the questions from 51—55. The circle
represents teachers, the rectangle represents
players and the triangle represents swimmers.

(erg 51— 55)

(Fodet ¢ Sise =R e &% @ 9w
51—55 = epesfera Tex wis | g€ (circle) B,
ORrer®d  (rectangle) ®ERE 4R Ty
(triangle) srerwmg afeffay war= ]

40

51. How many players are teachers?

FOGH (JETNGE F s 67 (A0S A ?
(A) 15 (B) 20
© 10 (D) 12



52. How many swimmers are neither
players nor teachers?

TOT AOIF (YCEARNT T oy 7y 9
(A) 10

(B) 12

(C) 5

(D) 40

53. How many players are neither
teachers nor swimmers?

FOG (TG P 91 et w0
(A) 20

(B) 5

(C) 10

(D) 15

54. How many players are both teachers
and swimmers?

FOT (MR Frwes 93 Mol iR e
(A) 20

(B) 15

(C) 40

(D) 5

55. How many teachers neither players
nor swimmers?

FOGH R (TR A e T
(A) 20
(B) 40
©) 12
(D) 15

[9]

(Questions 56— 66)

DIRECTION: In each of the following
qQuestions, select a figure from the four
alternatives which placed in the blank space
of figure would complete the pattern. Indicate
your answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer Sheet.

(ePt 56— 66)

RO CIEiiT
A Baef oo gz ot
M.R Tesxsitas A8 3o o3

-7




58.

59.

60.

> A

OO

®)

©

D) E

GE

A A

&) H5

® [R5

(©) g

© 3
7

@A)

®)

©

)

[10]

61.

62.

63.

(A)

(B)

©)

D)

(A)

(B)

©

)




64.

65.

66.

(A)

(B)

©

D)

(Questions 67— 70)

DIRECTION: In each of the following
questions, choose the correct water image of
the question figure, out of the four answer
figures. Indicate your answer by filling the
circle of the letter denoting your selected
answer on the O.M.R. Answer Sheet (assume
that water is along X Y).

(erdt 67— 70)

(e ¢ Risx 67 cars 70 o 2/ 2= 51
w1 Tz o (aee 1w Ry Seafd 13 w01 il
B9 ofefiy e s ort e | come Sl
O.M.R. Tez=taa 8 9@ +7¢1 703 Figiee w1 ]

(A)

— J
(B[
)

X Y
.
| » [£D

- ® |Gl
—
N

© -

[11]



(Questions 71—75)
DIRECTIONS: In each of the following
69. questions, choose the correct mirror image of

X m——— Y the object (X), out of the four alternatives
(when mirror is placed on the line AB).

Indicate your answer by filling the circle of
(A) (B) the letter denoting your selected answer on
the O.M.R. Answer Sheet.

(em 71—175)
Rop e A 71 @ 75 e 2ol 2w ol
ﬁaa@maﬁaGMﬁﬂﬁmﬁwaﬁmm%maaﬁﬂmﬁ
© D) zﬁammmmm.mmﬁ
OimR“%@mﬂmaﬁﬁ%q%q@ﬁaﬁﬁﬁﬁ%@aﬁﬁl
1.

AL

B (A ® © @O

ElSSIS]

& 2 @) (© (@O

RIS

x B @ ® © O

<

UE( Paattd
[B)-[8) DI

[12]



(Questions 76—80)

DIRECTIONS: In each of the following
questions study the problem figures marked
1, 2 and 3 carefully and to establish the
relationship between them, from the answer
figures marked (A), (B), (C) and (D) pick out
the figure which is most appropriately
completes the series. Indicate your answer by
filling the circle of the letter denoting your
selected answer on the O.M.R. Answer Sheet.

(21 76—80)

frd ¢ Aiea ofel 2o 1, 2 3 3 Fofee wwem
Bauf SIETed “Tel G SR WK T=9F ZIo
475 (A), (B), (C) @3¢ (D) Bz Tez Hauf
2o (1 oalb @0z e T TAwE Togereid =
oepel @3 | (o T OMR Seasitan @@

7 279 TS WO ! |
76. § i ?

12 B Fah

AN :

(1) (2) 3)

S
g

o0y Fny Fan) Fany
B/ 1/ oL/ e
(A) (B) ©) (D)
00000 Q000 c O O
77 * O**_ * kX '7
(1) (2) (3)
0O 0 O 00 0C Q0 o]
o— o— o— o—
* d % %* % % % * % %
(A) (B) © (D)
3| | (@] ||

(1) (2) 3)

(A) (B) © D)

79. Q'

e @A

Qn B,

(A) (B) © D)

(Questions 81—85)

DIRECTIONS : In each of the questions 81
to 85, three out of four figures are alike in
same respect and one is different from others.
Find out the odd figure in each question and
indicate your answer by filling the circle of
the letter denoting your selected answer on
the O.M.R. Answer Sheet.

(er 81—85)

Ao 3 81 (TS 85 #14 emeferg arerela orent
o1l fBraa g Tl (@It 7 (@S GFTIN
g} weR w wEm | el am @R
wiEw ol (@ ¥ A5 Team Wb el @R
OMR Tezega 8 38 77 o (o Te
fapffre =3l |

81.

7] =) [F] &

(A) (B) ©) D)

82,

A

(A) (B) ©) D)

[13]



83.

(A) (B) © )

84.

(A) (B) ©) )

8s5.

9] @] @] |9

(A) (B) © D)

(Questions 86—90)

DIRECTIONS : In each of the questions 86
to 90, three out of four figures are alike in
same respect and one is different from others.
Find out the odd figure in each question and
indicate your answer by filling the circle of
the letter denoting your selected answer on
the O.M.R. Answer Sheet.

(er% 86—90)

farét 3 86 (73 90 ¥ AalE Arena creTl
s B sy At @ T (ST GF1
@32 Sl e s | 2 de «F e
5l @7 T2 Afe Tl Fdiow = O
O.M.R. Tezeias A 78 579 TR (o T&
fitare |

86.
~ tt t Nts

— -

PR I P A | 4
(A) (B) © D)

87-:“.:'

K| K| B4 |BS

(A) (B) ©) (D)
88.

o 1] 4] [©

(A) (B) (©) (D)
89.

(A) (B) © D)
90.

+ ; )
A ®) © (D)

[14]
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(FOR STUDENTS STUDYING IN CLASS VIII)
Scholastic Aptitude Test
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Class-VIIT Code

State Code

A5 AN

Year Code Centre Code Serial No.

Roll No. 1
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Full Marks : 90
Time: 90 minutes (1-00 PM to 2-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

I. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (A), (B), (C) and (D) against each question
in the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . © @

(Here ‘B’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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Mathematics
1. The simplified value of
23x2:3x2:3-0027 is
23x2:3+ 069+ 009
(A) 1
(B) 2
O 3
(D) 4

2. The product of three natural numbers
is 105 x 11° and their L.C.M. is 1155. Then
their H.C.F. is

(A) 11
(B) 5
© 7
(D) 105

3. For three real numbers a, b, c; if

a+b+c=1and ab+bc+ca=%,thena:b:c
18
(A) 1:
(B) 1:
©) 2.
(D) 1:

2
1:2
1:1
1:1

4. For what value(s) of a, the system of
equations (¢ —2)x +27y =4-5; 2x + (a + 1)y = -1
will admit infinitely many number of
solutions?

(A) 8,-7
B) 5
(C) -7
(D) 15,-5
5.1f ax + by = 8; bx — ay = 4 and
¥ + y*= 16, then the value of (a® + b?) is
(A) 20
(B) 10
©) 5
D) 1

[3]

sHfere

1. 23x23x23-0027
23x2:3+069+0-09
A1
B) 2
© 3
(D) 4

-9 TR TN T

2. ToafS FreiRe W werwe za 105 x 11°
G9R BIHT A9, T 1155, O ot 9.8,
=

(A) 11
B) 5
< 7
(D) 105

3. foxls A e a, b, c; TMa+b+c= 1
G4 ab+bc+ca=% WS®@a: b:cH

(A) 1:2:1
B)1:1:2
) 2:1:1
D) 1:1:1

4, g-937 W W T THefEI "W
(a—2)x+27y=45;2x+(a+)y=—-1
FARFATEET STAN FLS NG A ?

(A) 8,-7
(B) 5
< -7
(D) 15,-5

5. 3% ax + by = 8; bx — ay = 4 4R
¥+ Y= 16T, R (@ + ) @} EA
(A) 20
(B) 10
©) 5
(D) 1



i

(A) 2-+/5
(B) V2-1
(@) N2 41
(D) V5-2

7. If a*bzz‘ﬁ"&, then the value of
900*1600 .
16%25
(A) 2
(B) 210
©) 12"
D) 2’

8. 10 cows or 7 buffalos can cultivate
a piece of land in 60 days working 8 hours
a day. Then the number of days, in which
25 cows and 14 buffalos will complete its
9 times task working 12 hours a day, will be
(A) 80
(B) 60
(©) 100
(D) 90

9. Due to increase of price of sugar by
50%, a house holder decreases the
consumption of it by 50%. The total
expenditure on sugar will be

(A) increased by 25%
(B) decreased by 25%
(C) unaltered

(D) decreased by 20%

10. If the point (3p, 2p — 16) lies on the
x-axis, then the value of p is
(A) -8 (B) 8
<€) -2 (D) 2

6. |81 -/80 =?
(A) 2-+5
(B) V2-1
(C) V2+1
D) V5-2

900 *1600 P

Jo—va
7. W a*b= 1, %d
a*b=2 L 16525

R

[4]

(A) 2
®) 2"
©) 112"°
D) 2’

8. 107 ot wat 7% IRa 2wz 8 96 IR
T @ @IFH & 60 e v1F FICS ANA|
25T oot @ 14T w33 2oz 12 9951 T I
otdie TR 9 vl PG TS AN 7 FI O
-1 =1

(A) 80
(B) 60
(C) 100
(D) 90

9. R S0% 7% NG «F 761 Bl
Borets 50% I o | B 33 (G <=5

(A) 25% 3% =it
(B) 25% 3™ A
(C) woifFaf¥s A=
(D) 20% 3 #I

10. 3 (3p, 2p — 16) R4 x-S TR OYS
o, R p-47 T T
(A) -8
) -2

(B) 8
(D) 2



11. If a polygon has 44 diagonals, then the
number of sides of it is

(A) 11
(B) 8
(C) 14
(D) 12

In the adjoining figure
PQ || RS, ZQPT =105°, ZSRT= x, ZPTR =15° .
Then x =

(A) 130°

(B) 100°

(C) 120°

(D) 190°

13. If in a triangle ABC, ZA = 95°
ZB = 25° /C = 60°, then which one of the
followings is correct?

(A) BC>AB>AC
(B) AB>BC>AC
(C) AC>BC>AB

(D) AC>AB>BC

14. If
Gx-2)(2x+3)2x-3)=Ax’ +Bx*+Cx+D
then the value of (A + D) is
(A) 6 (B) 3
©) 15 (D) 30

15. The points (2, 3) and (3, x) are
equidistant from the x-axis and (3x) < 0,
then x =

(A) -3
<) 2

(B) 3
(D) -2

11. T @3 Iwgres TR 44 77, O3 96F
AN T
(A) 11
(B) 8
©) 14
(D) 12

12. Q

Toe @
PQ || RS, LQPT =105°, ZSRT=x, ZPTR =15°.

SEFE x =
(A) 130°
(B) 100°
(©) 120°
(D) 190°

13. fagw ABC-9, ZA = 95°, £B = 25°,
ZC = 60°, stz Apd @ B e
(A) BC>AB>AC
(B) AB>BC>AC
(C) AC>BC>AB
(D) AC>AB>BC

14. W
(3x-2)(2x +3)(2x -3) = Ax’ + Bx* +Cx + D
2H, O Z (A + D)-9A T« o=
(A) 6 B) 3
©) 15 (D) 30

15. (2, 3) 92 (3, x) Raw =% S TGRS
@3 (3x) <0 OIF x =
(A) -3

C) 2

(B) 3
D) -2
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16. The sum of the exterior angles of a
triangle is

(A) 180°

(C) 90°

(B) 360°
(D) 270°

17. A car travels a distance of x km with a
velocity of magnitude u km/hour and travels
a distance of 250 km with a velocity of
magnitude v km/hour. If the magnitude of
average velocity on the whole journey 18

[ L ]kmfhour, then x =

u+v
(A) 200 (B) 250
(C) 250 km (D) 300 km

18. x and y are directly proportional. The
following table shows 4 pairs of corresponding
values of x and y. Then which one of the
followings is correct?

2
20

1

y
Y

X

b

(A) x,=02,x,=35,y,=10
(B) x,=02,x,=35,y,=10
(C) x,=02,x,=035,y, =10
(D) x,=2,x,=035,y,=10

Xy

2

X3

35

If in the beside figure
/RSB = 2x° + 65° and
ZSRD = 3x°-35° then
X=

(A) 30 (B) 30°
(C) 45° (D) 60
20. The sum of the roots of
X + x — 99990000 = 0 is
(A) 9 (B) 19999
(L) =il (D) 1

[6]
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1|

x| 2 1% H x;

y | 20] 2]35]y,
(&) ,=02,%=3573 =10
B) x,=02,x,= 3-5,y,=10
©) x,=02,x,=035,y, = 10
(D) x,=2,x,=035,y =10

¥ st o

/RSB = 2x° + 65° @R
ZSRD = 3x° - 35° =3,
A X =

(B) 30°
(D) 60

19.

(A) 30
(C) 45°

20. 2 + x — 99990000 = 0-43 Trerarag 7fe
Eal
(A) 9
&y —1

(B) 19999
(D) 1



Physical Science

21. Earth attracts a matter towards its centre
with a force of 60 N. The matter, if taken to
the Moon, Moon will attract the matter towards
its centre by the force of

(A) 6N
(B) 10N
(C) 60N
(D) 360N

22. An object has mass 50 gm. If the mass
of water displaced by the object is 40 gm, then

(A) the object will float in water.
(B) the object will sink in water.

(C) the object will float in any position
inside the water being fully
submerged.

(D) None of the above

23. The distance between two objcets is r.
Keeping their masses constant, if the distance
of seperation between them be doubled then
their gravitational force of attraction compared
to its initial value will be

(A) Doubled

(B) 4 times
1
(C) 7 time

1
D) — time
()4

24. Two bodies are in thermal equilibrium.
Which quantity will be the same of two
bodies?

(A) Thermal capacity
(B) Mass

(C) Specific heat

(D) Temperature

ceTefEw

21. *ffR3epre e @ T R o
w 60N 301 7 widst 37 | T@feE b B
(e, BV TG O @E e @ e Sl
T(F, G116 =&

(A) 6N

(B) 10N
(C) 60N
(D) 360N

22. 926 3%7 =9 50 &1% | 3T T SRS T
9 40 o oF

(A) 3%l & oriE |
(B) 3 &et gra @R |

(C) ¥ e T @ SR B
A | !

(D) ©oER @AHE 7

23. 4o <@ “q3S! 729 r, 9OF ©F B9 @
SIS TS| YA FRee! S0, THAEF W02 WY
S AT W 25 W

(A) o)
(B) 4-w9¢ 13|

1
(C) E@‘f’{@‘l

(D) i@‘ﬂ'ﬁl

24. 5 I I A AR, SR CHCh (D
G T ?
(A) iotenfEe
(B) ®7
(C) =teifisss oief
(D) s



25. Which of the following physical
quantity has no unit?

(A) Specific gravity
(B) Mass

(C) Pressure

(D) Velocity

26. In which of the following cases, the

chemical energy is converted into electrical
energy?

(A) Electric motor
(B) Electric cell
(C) Electric bell
(D) Dynamo

27. Amount of heat required to raise the
temperature of 1 gm. pure water by 1°C is

(A) 1 Joule
(B) 4-2 Joule
(C) 1 Calorie
(D) 4-2 Calorie

28. When salt is added to pure water then
its boiling point

(A) decreases

(B) increases

(C) remains same

(D) first increases then decreases

29. Aniron ball is immersed in a liquid. The
amount of upward force that the liquid is
exerting on the iron ball depends on

(A) density of the liquid
(B) density of the iron ball
(C) mass of the iron ball
(D) volume of the container

[8]
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30. At normal pressure, 80 cal. .of heat is
applied to 1 gm. of Ice at 0°C. The name of
the product formed and its temperature will
be, respectively—

(A) Ice, 0°C
(B) Ice, 1°C
(C) Water, 0°C
(D) Water, 1°C

31. A body of mass 1000 gm. is moving
with an uniform accelaration of 1 meter per
second. The applied force will be

(A) 1dyne

(B) 1 Newton
(C) 1000 dyne
(D) 1000 Newton

32. Which of the following pair are isotope
to each other?

(A) g and JHe
(B) 3H and jHe
(C) !H and iH

(D) 'c and 4N

33. Number of Covalent bond present in one
molecule of Methane is

(A) one
(B) two
(C) three
(D) four

30. FreiF® site, 0°C S3eol lgm. IJIF=
80 R 1ot 2w a1 251 | Tern smdfb A @
THew! T IYF—

(A) TF7, 0°C
(B) =%, 1°C
(C) =&, 0°C
(D) &4, 1°C

31. 1000 2w ©Ed G 38 1 for 2f® e
FREPTE TG AT T 4T IR WA F© I

(A) 1eiEs
(B) 1 fEB
(C) 1000 wizw
(D) 1000 T+

32, Toa @ @E A SREAw! ?
(A) 1HER JHe
(B) 3HERR JHe
©) 'He 2H

(D) Mcex YN

33, fas s THAfEs ARG IR HA
(A) @3
(B) 7
(C) feaf
(D) v
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.

34. Monomer of PVC is
(A) Ethylene
(B) Acetylene
(C) Vinyl Chloride
(D) Ethanol

35. The number of atoms present in a
molecule of Ammonium Carbonate is

(A) 01
(B) 02
©) 07
(D) 14

36. If the formula of the chloride of a metal
is MCl,, then the formula of the sulphate of
that metal will be

(A) M(SO,),
(B) M;(S0,),
(C) My(SO),
(D) None of the above

37. What is to be used as anode to
electroplate an iron spoon with nickel by

electroplating?
(A) Iron spoon
(B) Nickel rod
(C) Aluminium rod
(D) Graphite rod

38. Which of the following polymer is
biodegradable?

(A) Cellulose
(B) Teflon
(C) Nylon
(D) Polythene
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35. S FE-97 @3l wore Seifte
LIRS

(A) 01
(B) 02
(©) 07
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39.

40.

41.

42.

Life Science

Who discovered the first antibiotic?
(A) Antonie van Leeuwenhock
(B) Alexander Fleming

(C) Robert Koch

(D) Robert Brown

Which tissue has dead cells?
(A) Parenchyma

(B) Collenchyma

(C) Meristematic tissue
(D) Sclerenchyma

Seed develops from
(A) Ovule

(B) Ovary

(C) Style

(D) Stigma

How many cells are there in a virus?
(A) 0
(B) 2
©) 4
D) 7

43. In which of the following spices is
curcumin found? :

(A) Ginger
(B) Garlic
(C) Clove
(D) Turmeric

44. Which organism has hyphae?

(A) Algae
(B) Virus
(C) Fungus
(D) Bacteria

[11]
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45. Keratin, present in hair and nails is a
type of

(A) Carbohydrate
(B) Protein

(C) Lipid

(D) Vitamin

46. How many air sacs do birds have?
(A) 10
(B) 9
(C) 8
D) 5

47. Vincristine is found in which of the
following plants?

(A) Nayantara (Vinca rosea)
(B) Mango

(C) Ginger

(D) Aloe vera

48. Mixed gland secretes
(A) Hormone
(B) Enzyme
(C) Hormone and enzyme
(D) None of the above

49. Which hormone is being secreted from
thyroid gland?

(A) Insulin

(B) Adrenaline

(C) Somatotropic hormone
(D) Thyroxine

50. Membraneless cell organelle is
(A) Mitochondria
(B) Ribosome
(C) Lysosome
(D) Plastid

[12]
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51. Which disease is called break bone

51. Fsffe @W @efbe Zg-olel (break
disease from the following?

bone) ISl I&T = ¢
p =
niluenza (B) el
(D) Hepatitis (D) ceiEla

52. ‘Tabashir’ — an important medicine

52, ‘s —een ¢ FR-sifF e
used for the treatment of asthma, cold and

s G wwef egy | @3 634l (1 Sfer (U
cough is being derived from sfeT T, (T 28
(A) Sal (A) =
(B) Neem (B) s
(C) Bamboo (C) <
(D) Turmeric (D) =T

53. The part of a cell that contains genes

53, @iea @ weifoa g o AT, ©f 2@
(A) Lysosome (A) FREIE™
(B) Ribosome (B) @A
(C) Golgi Body (C) sttt afe
(D) Nucleus (D) el

54. Which of the following is not a Kharif

54. fFnfRe W AT = T3
Crop? (A) 4=
(A) Rice (B) “9a
(B) Mustard C
(C) Maize ED; EE;
(D) Cotton

55. Which of the following hormone is 55. FERRS @W RN SoATHA T
known as ‘emergency hormone’? T BN ?
(A) Estrogen

(B) Insulin &)

(C) Thyroxine (B) e

(D) Adrenaline (C) «RRR
(D) =g
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History
56. Murshid Kuli Khan was appointed as
the permanent ‘Dewan’ of Bengal by
(A) Aurangzeb
(B) Farrukhsiyar
(C) Bahadur Shah
(D) Nadir Shah

57. Policy of ‘Subsidiary Alliance’ was
introduced by
(A) Lord Clive
(B) Waren Hastings
(C) Lord Wellesley
(D) Lord Dalhousie

58. The waterways of Bengal was surveyed
at first by

(A) William Jones
(B) Charles Wood
(C) Elijah Impey

(D) James Rennell

59. Widow Marriage Movement in Madras
Presidency was initiated by

(A) Mahadev Govinda Ranade
(B) Dr. Atmaram Pandurang
(C) Vireshlingam Pantulu

(D) Jyotirao Phule

60. Aryasamaj was founded by
(A) Debendranath Tagore
(B) Keshab Chandra Sen
(C) Swami Dayananda Saraswati
(D) Jyotirao Phule

61. Indian League was founded in
(A) 1875 AC.
(B) 1876 AC.
(C) 1877 AC.
(D) 1878 AC.

foH
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(A) T=ferm cars
(B) ¥t Tu
(C) «feren 3r=t

(D) (& (e

59, WEw (Abrehte RyaiRar Sitwes ST
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(A) TRITR (N =S
(B) ©2 SN ARG
(C) Rraifemta #irege]
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60. ST efeR! F0Ew
(A) CTEEIY 315
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(B) 1876 &6+
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62. Pratapaditya Utsav was introduced by 62. Zsiofifve] Sewa wE araw

(A) Basanti Devi (A) I8 @R
(B) Pritilata Waddedar (B) #ifeeret s
(C) Kanaklata Barua (C) TwaeTel gl
(D) Sarala Devi Choudhurani (D) et (7 i@
63. The plan for partition of Bengal was 63. TerHd  AfFTEA EEda ow wEkw
declared in the year 1905 on 1905 261w
(A) 16th July (A) 163 5%
(B) 19th July (B) 190+ etz
(C) 16th October (C) 163 w3raa
(D) 19th October (D) 190 S(BRE
64. Swarajya Dal was founded by 64. FIIT W 957 FRA
(A) Chittaranjan Das (A) foeagm wm
(B) Mahatma Gandhi (B) W= st
(C) Subhash Chandra Bose (C) o v 35
(D) Ballavbhai Patel (D) TWESR 275
65. Gandhi Arwin Pact was signed in the 65. MR WAL pfe TrwT AT —
year (A) 1930 fas5it=
(A) 1930 AC. (B) 1931 f2%it=
(B) 1931 AC. (C) 1932 f&5r=s
(C) 1932 AC. (D) 1933 %517
(D) 1933 AC.
66. Haripura Congress was took place in the 66. =RoF TP RIS TT—
year (A) 1934 fa5it=
(A) 1934 AC. (B) 1938 fae5rea
(B) 1938 AC. (C) 1939 &35t
(C) 1939 AC. (D) 1940 &5
(D) 1940 AC.
67. Policy of Communal Award was 67. AremiEs G A @R e
declared by (A) N WFCeTE
(A) Ramsey McDonald (B) #¢ fomf@arst
(B) Lord Linlithgo (C) =16 eires
(C) Lord Wavel (D) =T NS

(D) Lord Mountbatten
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68. The Royal Indian Navy Mutiny was
occurred at first in

(A) Calcutta
(B) Karachi
(C) Cochin
(D) Bombay

69. In which conference of Muslim League

the demand of separate state for Indian
Muslims was raised?

(A) Karachi
(B) Lahore
(C) Bombay
(D) Calcutta

70. As per the Partition Plan of India in
1947 AC the name of the boundary demarcation
line between Bengal and Pujab province was
(A) Radcliffe Line
(B) McMohan Line
(D) Durand Line
(D) Teen Bigha Corridor

71.
of Ganaparishad.
(A) Dr. Rajendra Prasad
(B) Jawahar Lal Nehru
(C) Ballavbhai Patel
(D) Dr. B.R. Ambedkar

was elected, as the President

72. The first Chief minister of West Bengal
was

(A) Prafulla Chandra Ghosh
(B) Dr. Bidhan Chandra Roy
(C) Prafulla Chandra Sen
(D) Siddhartha Sankar Roy
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Geography

73. The Himalaya is a
(A) Block mountain
(B) Fold mountain
(C) Volcanic mountain
(D) Erosional mountain

74. How much time is IST ahead of GMT?
(A) 6 hours
(B) 5 hours 30 minutes
(C) 5 hours
(D) 4 hours 30 minutes

75. The air pressure is measured by
(A) Hydrometer
(B) Barometer
(C) Anemometer
(D) Hygrometer

76. Which one of the following is an
international river?
(A) Danube river
(B) Godavari river
(C) Lenariver
(D) Thames river

77. Which one of the following diseases is
caused by cadmium pollution?
(A) Blackfoot
(B) Flurosis
(C) ltai-itai
(D) Minamata

78. Which one of the following plateaus is
situated in between Himalayas and Kunlun?
(A) Ladakh
(B) Anatolia
(C) Mongolia
(D) Tibet

grale

73, famER +idS @30
(A) ¥ oS
(B) s sif®
(C) wiea™ 214
(D) waETe 74

74, GMT-93 gewid IST F9 7. afer?
(A) 69!
(B) 5 =61 30 WFE
(C) 59!
(D) 45130 e

75, Frgpet AT T (1 N AL —
(A) g™
(B) aifoia
(C) sptfefEoe
(D) e

76. AR @ WA STeE e T ¢

77, el e RS @ @ 4R
oY —
(A) FEL
(B) gl
(C) Tol22OR
(D) f=r=Gr

78. Wewmﬁwﬁﬁ%ﬁ@
@ el wafES ?
(A) =M
(B) wicstfera
(C) rEifert
(D) fo=e
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79. The temperate grasslands of South

Africa are called
(A) Pampas
(B) Velds
(C) Prairies
(D) Steppes

80. The longest river of Europe is
(A) Rhine river
(B) Danube river
(C) Volgariver
(D) Seine river

81. The author of the book ‘Journey to the
centre of the earth’ is

(A) Agatha Christie
(B) Jules Verne

(C) Mulk Raj Anand
(D) Thornbury

82. An example of Dead volcano is
(A) Barren

(B) Maunaloa
(C) Fujiyama
(D) Popa

83. An example of metamorphic rock is
(A) Sandstone

(B) Limestone
(C) Coal
(D) Marble

84. The cyclone originated in Caribbean sea
is called

(A) Hurricane
(B) Norwesters
(C) Typhoon
(D) Willy-Willies
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85. cloud makes the sky ‘Mackerel

sky’.

2

(A) Cirrus
(B) Cirrocumulus
(C) Stratocumulus
(D) Stratus

86. El Nino is a warm ocean current. In
which direction does it flow?

(A) Northward
(B) Southward
(C) Eastward

(D) Westward

87. The main river in Bhutan is

(A) Kaligandok
(B) Meghna
(C) Irrawaddy
(D) Manas

88. The busiest airport in the world is

(A) Chicago
(B) London
(C) Delhi

(D) Atlanta

89. Coffee Estate of Brazil is commonly
known as

(A) Frigorico
(B) Fazenda
(C) Goucho
(D) Semang

90. ‘Eyres rock’ in Australia is formed by

(A) Marble
(B) Limestone
(C) Sandstone
(D) Slate
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